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1 —16X33%=5.28 1,
16X 21% =3. 36 t, = (5.28—
/e 16 16 3 36)X 24— 46.08 t, (1.0 MPa
/D 21.33 19. 36 185.7 keal * kg ' )46. 08> 1 000X (185.7—
& 240 460 20) =7 635 456 keal, 7 635 456 =
/t 760 460 ) . -
L L o 5300+-0.8=1800 ke=1.8 1.
,C 20 85 =1.2—0.7=0.5t.
/(mmol ° L™ 1) 5.5 3.8 2 7.5kW . 1
/% 33.3 21.0 45 kW , 2
.5 680
760— 460=1300 t, ( 2.5 , 89X 4.5 0.5
300X 2. 5= 750 .1 2.5 .6 (DN 80/
—19.36X 24= 465 t, PN16) 0.5 , 3.5
—=465X1 000 (85— 20)=30 225 000 kcal,
( 5300keal kg ')30225000+-5300= 5
5703 kg=5. 703 t, 80%,
=5.703+-0.8=7.128 t. ’ ’ 5 ’
33% 21%. .
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